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DIRECTIONS: Solve each equation for x.
Your answers should match your partner’s.

DIRECTIONS: Solve each equation for x.
Your answers should match your partner’s.

x=-4

1
—6+x=3

2
. =25
3 ZX =2
x—9=-8

il
—2x = —80

5
x+6=13

6
+1 5
xX+-s=—
6

7

© The Math Factory 2015

o
-
—2.5x = —22.5
x+14=9
—25x =-25
L —10
2 * =
x—8=-1
11
3" 76
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. —3x = —33 . =4
x+17 = —4 x—8=-29
9 9
3x = 0.6 —xzi
10 10 B
-3+x=11 3
11 11 ’
—8x = 64 x+5=—2
12 12 S
X 3
=6 ——x=-135
13 ’ 13 4
Ex=20 x —14 = 16
14 3 14
—3.8+x = —3.05 3.9
15 15 57720
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